MAKITA SERVICE INFORMATION

24.02.2021

Model No.DA3010F ANGLE DRILL 10MM

13

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html



24.02.2021

Model No.DA3010F ANGLE DRILL 10MM

MAKITA SERVICE INFORMATION

pPTUKYN eTanwu nucaHUue aMeHa oNnunyecTBO [New poOAaxtu akKynka puMe4YyaHUue
A a 0] 3 K New/Old| 1 3 mn
_ CaMoHapes3awWwWum
001 266048-4 BUAHT 4X40 4
Kopnyc
002-1 317635-3 pepAyKTOpapgns« 1
DA3010F
_ Kocos3yb6as
003 227436-0 wecrTepHasa 9DA30IOF 1
004-1 210029-0 MoawwnnHKUK 608ZZ 1
_ Koco3yb6as
006 226567-2 |16 C T e pH A 28 DA3DIOF !
007 210026-6 MMoapwwunHMUK 696ZZ 1
_ fpoknapnpka
008 4180369 1, 6 1y K T 0 p a DA3010F/ !
_ KpbiwWwka Kopnyca
009 418042-4 PeAYKTODaA 1
010 211051-0 TopwwnnHMUK 609LLB 1
_ KpbnbyaTka
on 240061-0 | 0 5 p 5 48 DA3010F !
012 517583-8 PoTtop B ¢c 6. kK DA3010F 1
D10 INC. 10,11,13,14
_ M3onsumoHHasn
013 6816360 | 21 6a nna HR2450/ !
014 211021-9 MTopwwnnHUK 607LLB 1
_ Pe3nHoBOoE
015 421494-0 1\ S 5L 4o 19 K HR2450/ !
016-1 210029-0 MTopwwnnHMUK 608ZZ 1
_ CTonopHoOe
or7 96105275 | ¢ 5 n b 1 0 S-12 9555NB/ !
_ Kocoa3yb6as
ors 227437-8 ||/ ¢ T e ph A 26 DA30IOF !
019 211419-0 MoapwwunHMUK 6806DDW 1 *
019-1 211423-9 MoawwnnHMUEK 6806DDW (¢] 1
_ LinoHK a4
021 254201-4 505D 84198,DA3010F/11 !
_ CBepnuMANbHBM
022 763174-5 naTtpoH S10DA3010F 1
dPukcatop
023 285842-5 NOAWMMNHUKAE K 1
DA3010F/
025 266315-7 B W HT (+) M4X65 2
_ 3awMmTacTaTopa
026 418033-5 0 n a DA3010F/ !
_ Ctatop ans
027 635078-0 | pA3010F/DA3011F !
_ Kopnyc mMoTopa
028 183560-8 DA3010F 1
D10 INC. 30
_ OTmnkKkeTKa aonA
029 850083-8 |\ 5 5 e 5 v DA30IOF !
OQTnkeTKacC
030 819063-3 amMm6bnemon Makurta 1
S
B CBeTOM3INYyYawWU#n
031 631516-0 4 v o p DA3010F/ !
_ CaMoHapes3.BUHT,
032 266053-1 ®naHe L PTAX35 1
_ CamMoHape3awwui
033 265995-6 BUHT 4X18 3
. KpbiwWwka Kopnyca
034 18355973 1)1 0 7 0 p a DA301OF !
D10 INC. 39
_ UletTkopoepxaTensb
035 6438019 1’1" a4 DA3010F/ !
KpoHWwWTenH
036 687139-2 BblKNo4YaTens 1
DA3010F/
_ UlletTkopnepxaTensb
037 643801-9 0 n a DA3010F/ !
_ YronbHbE WEeTKMU
038 191962-4 CB-419 1
_ KpbiWWka Kopnyca
039 183559-3 |15 1 0 p a DA3010F !
D10 INC. 34
_ CamMoHape3awwum
040 265995-6 BUHT 4X18 2
_ MMTpuUXMUMHaa84
041 687052-4 njfacTuWHa K HR2450/ !
_ BoknwoyaTtTensb
042 650539-9 | 1Gg03BSA DA3010F/ !

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html

Print Date 24/2/2021

2/3



24.02.2021 MAKITA SERVICE INFORMATION

Model No.DA3010F ANGLE DRILL 10MM

Aptukyn|OdeTtanwu OnucaHue 3amMmeHa|lKonnmuyuecTtTBO|New/Old[[Tpopnaxnu|3akynkal|llpumeuvyaHue
_ Pelyuar peBsepca
043 418038-5 L N 5 DA3010F/ 1
_ KoHOoeHcaTOpD
044 631527-5 | pA3010F/JR1000FT/ !
_ Ycunutens
045 682559-5 Kabens8nns 9558NB/ !
_ Kab6bensb
046 665394-6 pe3unHOBL W 1.0-2-25 1
047 213034-6 O-konbuo 3DA30I0F 1
Brynka
048 418040-8 BblKNnw4YyaTensa K 1
DA3010F/
Pbyar
049 153477-9 Bblknio4YyaTtena B cb. 1
DA3010
_ PerynupoBo4YyHOS
050 418037-7 | by 4 k a DA3010F/ !
AO01 411780-7 MMaTpoH 10 1
A02 763415-9 [TaTpoH S10 1
A03 152490-4 BokoBada pyudyka 36 1
Please order the parts with part number. Print Date 24/2/2021

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html 3/3



